MEPEHE U MEPE

1. W3pasu pate Ay*KMHE 03HAYEHUM jeAMHULAMA Mepe: N

\
dm=__dm 40dm=__m
7m=___dm 100cm=__dm=__m
12 dm=__ cm 1000m=__ km

2. Ynuwu TayHe mepe:

3dm 13cm= cm
4m 25dm= dm
2dm3cm = cm
3m4dm= dm
4cm2mm= mm

3. W3pasuy apyrum jeanHuuama:

3dm70cm = cm = dm=___m
6m 17dm= dm
2dm48cm = cm
4. [onyHwu:
40cm+_ =1m
29cm+_ =1m
32cm+__ =4dm
8dm+_  cm=1m

cm—3dm=5dm

dm—-60cm =30cm

Poodumeso Cpiuja



Pewema:

1. 4dm 4m
70 dm 10dm=1m
120 cm 1 km

2. 43cm
65 dm
23 cm
34dm

42 mm

3. 100cm=10dm=1m
77 dm
68 cm

4. 4A0cm+60cm=1m
29cm+71cm=1m
32cm+8cm=4dm
8dm+20cm=1m
80cm-3dm=5dm
9dm-60cm=30cm

Poodumeso Cpiuja



